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2N
X ZH -
L= B

el

= Xl Xl & ot

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

A=A ESAE 294 201,019 136,529 64,490
= 139,813
Al 61,206

307 glz2tol & 201,019 136,529 64,490
2 139,813
Al 61,206

10 AL SXAIEEE2EHEX 201,019 136,529 64,490
OdZHIIHAN ESAE 29| 201,019
= 139,813
Al 61,206

AOHOHIIGH At XIAAIE 29Dl 477,200 421,410 55,790
2 334,040
Al 143,160

307 21201 A 477,200 421,410 55,790
= 334,040
Al 143,160

10 ALSISXAIEEE2GHEX 477,200 421,410 55,790
OSOHOHIIGH A XI&AIE 2] 477,200
= 334,040
Al 143,160

SZANN N2s=ET20 L o 2| 16,499 16,703 A 204
2 11,549
Al 4,950

307 21240 16,499 16,703 A 204
= 11,549
Al 4,950

10 AL SXAIEEE2EHEX 16,499 16,703 A 204
O&4=dIloHA XIgsl=22208 & 2= H| 16,499
= 11,549
Al 4,950

A OHOHIIoH At 2 = XI& ALY 76,070 72,900 3,170
= 53,249
Al 22,821

307 glz2+ol & 76,070 72,900 3,170
= 53,249
Al 22,821

10 ALSISXAIEEE 22X 76,070 72,900 3,170
O« DHOHII o K X2 A 76,070
= 53,249
Al 22,821

HAZALNI NFAL SXNSE 58,489 48,750 9,739
Al 58,489

307 21201 A 58,489 48,750 9,739
Al 58,489

10 ALSISXAIEEE2IHEX 58,489 48,750 9,739




2N

X ZH
S =

el

= Xl Xl & ot

DA g2d 2 AMSEA XY

O:Ié\; 2ol =X|

[ B N )

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

OWdZHIoi X XNEANE SXNSH 58,489
Al 58,489

HEAE dH=S0 121,258 66,582 54,676
= 109,132
Al 12,126

307 21201 A 121,258 66,582 54,676
2 109, 132
Al 12,126

10 M2 SXNANEHE2IHEX 121,258 66,582 54,676
OWEAE dA=SH 121,258
= 109,132
Al 12,126

OEANE =20 6,852 4,352 2,500
= 6,167
Al 685

307 glz2tol & 6,852 4,352 2,500
= 6,167
Al 685

10 AL SXNAIEEE 2 H EX 6,852 4,352 2,500
OWEAIE IESH 6,852
= 6,167
Al 685

OtsHEESXYl 29 7,200 7,200 0
= 3,600
Al 3,600

201 L2l 7,200 7,200 0
= 3,600
Al 3,600

01 At 22l 7,200 7,200 0
OOsSHEESXNSHN 2l 7,200
= 3,600
Al 3,600

25 2 = K& 32,766,504 34,477,360 A 1,710,856
= 19,389,621
Al 10,936, 191
- 2,440,692

NHE=X A 2,010,162 1,497,594 512,568
= 915,133
Al 873,304
- 221,725

ERNPNE = 291,000 291,000 0
Al 291,000

301 e A= 291,000 291,000 0
Al 291,000

01 AR 2Z A5 3 291,000 291,000 0




2N
e 9 I X

el

X ZH
S =

= Xl Xl & ot

IE=X B8

SA - BB B () - MM - BES Ol &t o San HmEET

O X&EZ 291,000
Al 291,000

EfA kel = 179,000 179,000 0

301 et a3z 179,000 179,000 0

01 AR 2Z A 353 179,000 179,000 0
Osd =6tz 179,000
- SMAH 200,000& 5209 104,000
— S XA 500,000& 1509 75,000

SAEA MY 29 900 5,900 25,000

201 Let24d] 900 5,900 A5,000

01 At 22/l 900 900 0
O=sdtEe 22 MH 900

StREEIIE Ols2d=H s N3 417,000 230,000 187,000
= 333,600
Al 83,400

301 LtE L= 417,000 230,000 187,000
= 333,600
Al 83,400

01 MEI2EZE+06l= 417,000 230,000 187,000
Ost=22IIE ots2d=sHl S XA 417,000
= 333,600
Al 83,400

SHERIIEXE AlHIAY 238,000 279,354 A 41,354
Al 238,000

301 et a s 238,000 279,354 A 41,354
Al 238,000

01 MEIBEE 5= 238,000 279,354 A41,354
OtR2IIEXNE AlHI AL 238,000
Al 238,000

BRI (2NINE) N =HASAMY 7,200 7,200 0
Al 7,200

301 LB A Z 7,200 7,200 0
Al 7,200

01 Ml28E 6= 7,200 7,200 0
OSt2ZINF(ENIE) MHEFHI A 7,200
Al 7,200

HAE 22 UEIJAS 10,500 9,940 560
= 8,400
Al 2,100

301 L= 10,500 9,940 560
= 8,400
Al 2,100




D SNXE Y
CEE 2 OE N
PRSI sd

= - 4 14
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
01 Al E& A 46 2 10,500 9,940 560
OFAYE 8232 NEHI AL 10,500
= 8,400
Al 2,100
otolE==20| X& 677,000 323,000 354,000
= 473,900
Al 203,100
307 212t0| & 677,000 323,000 354,000
= 473,900
Al 203,100
11 A EXAIEE X 677,000 323,000 354,000
Ootolss XN 677,000
= 473,900
Al 203,100
ALNEXNSEH 29 167,300 172,200 A 4,900
= 83,650
Al 41,825
- 41,825
307 2iz2to| & 167,300 172,200 A 4,900
= 83,650
Al 41,825
- 41,825
11T AISIEXAIEEX 167,300 172,200 A 4,900
OAHLUINEXNHE 2 167,300
= 83,650
Al 41,825
- 41,825
Ct2st JIs s=20us 294 A& 22,262 0 22,262
= 15,583
Al 6,679
301 et A= 22,262 0 22,262
= 15,583
Al 6,679
01 Al B & X 262 22,262 0 22,262
OUESSIE st=20ns 29 22,262
= 15,583
Al 6,679
8 2 Halold X& , 756,342 32,979,766 NP2,223,424
2 474,488
Al ,062,887
- ,218,967
BFAIY oFLY 2,000 1,000 1,000
201 et 2,000 1,000 1,000
01 AFR 2t 2| bl 2,000 1,000 1,000
OBS A oL ZHXT A& 16,000& x 1252 2,000




(o
CHB - E(BH) - MM - B 0l &t o il Bl RE2

SWAA 2AHd XA 3,724,137 3,502,127 222,010
2 2,235,423
Al 1,043,044
T 445,670

307 glz2tol & 3,724,137 3,502,127 222,010
= 2,235,423
Al 1,043,044
- 445,670

OMBETANLEHE2IHIEE 3,724,137 3,502,127 222,010
OEsuI@ 2l 3,724,137
= 2,235,423
Al 1,043,044
- 445,670

OE OR0IE X2l N 2,400 2,400 0
= 1,440
Al 672
- 288

307 21201 A 2,400 2,400 0
2 1,440
Al 672
- 288

e LN EEEECTIEES 2,400 2,400 0
OZOHOtEEAIE &=l 2,400
= 1,440
Al 672
T 288

3238 Heold 294 XN& 283,200 131,520 151,680
= 169,920
Al 79,296
- 33,984

307 glz2+ol & 283,200 131,520 151,680
= 169,920
Al 79,296
- 33,984

10 AL SXNAIEEE2EH EX 283,200 131,520 151,680
O338 oeold 234l XN 283,200
= 169,920
Al 79,296
- 33,984

= AMHIA 5,036,488 3,567,772 1,468,716
Al 5,036,488

307 21201 A 5,036,488 3,567,772 1,468,716
Al 5,036,488

10 ALSISXAIEEE2EHEX 5,036,488 3,567,772 1,468,716
OBt3~5M0 =2l E BEsE 4,275,256
Al 4,275,256




SH: SNXAD
Mo 28 o 1% X

=

HL H
0 4

cHel: 2 OR0lE N (sl &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OFFX& U0l [HgEeddl X 8,600
Al 8,600
O0eold s&sts & St A 50,000
Al 50,000
OF=2XA HEelold nMu7d X 14,700
Al 14,700
OS2It E|K0A EX+ 510,000
Al 510,000
OLESAE 228 22X & 23,000
Al 23,000
OEIICIESHEOIE ESWUAN A2 K& 115,000
Al 115,000
OZMWHELOHBOIE SEIN S2224¢ X
2 20,600
Al 20,600
OO0zt el old EclAZ2 29 AtgHI 1,332
Al 1,332
OHROXNNHE0E HENMNASS ANBESEZ
X & 18,000
Al 18,000
2SS HHLD 1,400 1,260 140
201 L2l 1,400 1,260 140
01 At 22l 1,400 1,260 140
OE=%as 3o A&+
70,000& =10 23] 1,400
QI2t{El 0l wMw+dl X3 48,690 42,408 6,282
= 29,215
Al 13,633
T 5,842
307 212tol ™ 48,690 42,408 6,282
= 29,215
Al 13,633
T 5,842
10 ALSISEXAIEEE2EHEX 48,690 42,408 6,282
Ogl2telold WIiHw -+l 48,690
= 29,215
Al 13,633
- 5,842
g s+ N 6,284,000 7,010,173 A726,173
= 4,713,000
Al 1,099,700
- 471,300
301 LerE A3 6,284,000 7,010,173 AT726,173
= 4,713,000
Al 1,099,700
- 471,300




EX: E2XXNS
Hu: 28 9 JIE X¥
Sl 28 Y 0R0E X CERED
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 Al E& A 46 2 6,284,000 7,010,173 ANT26,173
OFtdsd== X3 6,284,000
= 4,713,000
Al 1,099,700
- 471,300
012 JIEOE0ld Hetd 2H| 41,600 41,600 0
307 2I2t0| ™ 41,600 41,600 0
10 Al SEXNAEEHE2IGH EX 41,600 41,600 0
OQBIZt JIEE 0l E HetA 2 H| 41,600
SXE e 14,080 14,080 0
308 AHXIEHSOIA 14,080 14,080 0
08 W=EJl&otistE = 14,080 14,080 0
OSX& eyl 14,080
0~2M BEs2 s X 14,280,000 16,422,066 N2,142,066
= 10,710,000
Al 2,499,000
- 1,071,000
307 2iz2to| A 14,280,000 16,422,066 N2,142,066
= 10,710,000
Al 2,499,000
- 1,071,000
10 MM SAANEEHESIHEX 14,280,000 16,422,066 N2,142,066
O02H B2 S 14,280,000
= 10,710,000
Al 2,499,000
- 1,071,000
H&0HoI &2ts BE|]E 3,400 9,339 A5,939
Al 2,992
- 408
307 2I2t0| & 3,400 9,339 A5,939
Al 2,992
5 408
10 AISIEXAIEEHE2IHIEX 3,400 9,339 AN5,939
OHIEOMOI glE BExa 3,400
Al 2,992
- 408
WA 2REEME X 980, 155 678,100 302,055
= 588,094
Al 274,443
- 117,618
307 2iz2tol & 980, 155 678,100 302,055
= 588,094
Al 274,443
- 117,618




fA4: SXXA
Hu: 28 9 JIE X¥
Sl 28 Y 0R0E X CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 ALSISXAIEEE2EHEX 980, 155 678,100 302,055
OuAIZ2E A X3l 980, 155
= 588,094
Al 274,443
- 117,618
OtOIAIE 22 ZLIHEE 294 8,244 3,297 4,947
= 4,122
Al 1,982
T 2,140
201 Let24dH] 8,244 3,297 4,947
= 4,122
Al 1,982
- 2,140
01 At 22/l 8,244 3,297 4,947
OOt0IALE 22 ZLIHZEE 29| 8,244
= 4,122
Al 1,982
T 2,140
AMZHES X2 46,548 0 46,548
= 23,274
Al 11,637
T 11,637
301 et d s 46,548 0 46,548
= 23,274
Al 11,637
- 11,637
01 MEIBEZE+05l= 46,548 0 46,548
OANZtHE=2 XI& 46,548
= 23,274
Al 11,637
- 11,637
HYE LsME SF 62,802,745 32,266,094 30,536,651
= 42,365,560
Al 17,148,687
- 3,288,498
Lol SXNsd 62,786,905 32,250,254 30,536,651
= 42,365,560
Al 17,132,847
- 3,288,498
LOENEM HRFX 1,000 1,000 0
203 YR =2l 1,000 1,000 0
03 A FAH S =AY 1,000 1,000 0
OLQ=XTHMY 425 1,000
LOSTAE HASH 833,296 761,296 72,000
= 749,966
Al 83,330




2N
X ZH -
L= B

el

by o

R

As LeME BY
ol X=X

ol =X S

- - _ L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2

307 2izto| A 833,296 761,296 72,000
= 749,966
Al 83,330

10 MM SAANEEHESIGHEX 833,296 761,296 72,000
OLo=EXAIE MHASN 833,296
= 749,966
Al 83,330

LOIAZAIE2IX S 927,340 840,000 87,340
= 649,138
Al 278,202

307 QI2t0| ™ 927,340 840,000 87,340
= 649,138
Al 278,202

10 Al EXNANEEHE2IGH EX 927,340 840,000 87,340
OLQIUZAIE 2FH| 927,340
= 649,138
Al 278,202

LOQAUALE SAIHXRA 1,600,000 1,600,000 0
Al 1,600,000

307 2Iz2t0| A 1,600,000 1,600,000 0
Al 1,600,000

10 M SXAAEEHESIGHEX 1,600,000 1,600,000 0
OLQQAAE SLIHXA 1,600,000
Al 1,600,000

LOIQAAE SAIA EXNEE 210,000 210,000 0
Al 210,000

307 giztol A 210,000 210,000 0
Al 210,000

10 MM SAANEEHESIGHEX 210,000 210,000 0
OLOQQLAANAE SAMN SXN=E 210,000
Al 210,000

=32 53,628,225 23,751,607 29,876,618
= 39,015,453
Al 11,704,636
- 2,908,136

301 et A= 53,628,225 23,751,607 29,876,618
= 39,015,453
Al 11,704,636
5 2,908,136

01 A& A 253 53,628,225 23,751,607 29,876,618
OJl=d= 53,628,225
= 39,015,453
Al 11,704,636
- 2,908,136

COSE(II2) MY AAY 373,333 267,582 105,751




EX: E2XXNS
M AYS LEME B
Sl sol 2XEX CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 261,333
Al 112,000
307 gizto| A 373,333 267,582 105,751
= 261,333
Al 112,000
10 MM SAANEEHESIGHEX 373,333 267,582 105,751
OLo=E2 JI2 NI AAY 373,333
= 261,333
Al 112,000
LolEE (S )MHIAAY 349,069 512,056 N 162,987
= 244,348
Al 104,721
307 212t0| & 349,069 512,056 A 162,987
2 244,348
Al 104,721
10 M SXANEEHESIHEX 349,069 512,056 A 162,987
Okols=sse A A 335,663
= 234,964
Al 100,699
OSI|IJFAFA HI A 13,406
= 9,384
Al 4,022
SOELOINN HEXEZ N 126,900 126,900 0
Al 126,900
301 et A= 126,900 126,900 0
Al 126,900
01 M EXE 252 126,900 126,900 0
ORJE LN HEXNEZ2 XA 126,900
Al 126,900
A2L 29H| X (EX) 235,200 233,400 1,800
Al 188, 160
- 47,040
307 2Iz2t0| & 235,200 233,400 1,800
Al 188, 160
- 47,040
10 MM SXAAEEHESIGHEX 235,200 233,400 1,800
Odz4Y 29Hl X& 235,200
Al 188, 160
5 47,040
AR2Y 294 XK (HH) 75,000 74,400 600
307 giztol A 75,000 74,400 600
10 MM SAANEEHESIGHEX 75,000 74,400 600
oZzd 294l XA 75,000
A2Y M 22X B XA 25,830 23,000 2,830
Al 12,915




fA4: SXXA
M AYS LEME B
©el: Lol XS CERED
SA - BB B () - MM - BES Ol &t o San HmEET
- 12,915
307 21201 A 25,830 23,000 2,830
Al 12,915
T 12,915
11T MISAASER 25,830 23,000 2,830
OZzS&almz et 22 25,830
Al 12,915
- 12,915
d2g RAE* 40,000 40,000 0
401 AIEHI L 2CHEI 40,000 40,000 0
01 A& Hl 40,000 40,000 0
OZ2% |FAE=Hl 40,000
Z2E SN MY 14,000 14,000 0
Al 7,000
- 7,000
401 Al HI K 201 I 14,000 14,000 0
Al 7,000
- 7,000
01 A& HI 14,000 14,000 0
OZ2Y SZ ML A HI 14,000
Al 7,000
- 7,000
Z22Y 2IXE A Y 20,000 20,000 0
Al 20,000
307 glz2+ol & 20,000 20,000 0
Al 20,000
11T MISAASEX 20,000 20,000 0
OZ2g 2LXE A 20,000
Al 20,000
Y& =Y A2 6,250 6,150 100
Al 3,125
- 3,125
301 LAz 6,250 6,150 100
Al 3,125
- 3,125
01 MI28E 6= 6,250 6,150 100
OZz 324 =2 6,250
Al 3,125
T 3,125
Mot l=SXAIE 224 X& 219,000 219,000 0
Al 219,000
307 glz2tol & 219,000 219,000 0
Al 219,000
10 AL SXNAIEEHE2EH EX 219,000 219,000 0




fA4: SXXA
M AYS LEME B
©el: Lol XS CERED
SA - BB B () - MM - BES Ol &t o San HmEET
OMIMt=eEXAIE 23H XI& 219,000
Al 219,000
HESEH MOt Ql AAIBE 43,340 44,000 A 660
Al 43,340
307 21201 A 43,340 44,000 A 660
Al 43,340
11T M3 SXAISEEX 43,340 44,000 A 660
OHNS=H MMt AAtHE 43,340
Al 43,340
dERAY RE2ZAANY(EX) 220,065 222,370 A 2,305
Al 220,065
307 gl2tol & 220,065 222,370 22,305
Al 220,065
11T M 2XALSE EX 220,065 222,370 N 2,305
ozzAag XA 220,065
Al 220,065
d2AY 223 AAG (XHA) 8,000 8,000 0
201 L2l 7,000 7,000 0
01 At 2t 2l 1,000 1,000 0
Oger2g| 1,000
02 =24l 6,000 6,000 0
OZZ2AE ANERA & E= 6,000
405 XHoHF S HI 1,000 1,000 0
01 et EZFH S 1,000 1,000 0
oZzzag #i1+¢ 1,000
Lolwa 29 30,000 33,000 A 3,000
Al 30,000
307 glz2+ol & 30,000 33,000 A 3,000
Al 30,000
10 AL SXAIEEE2EHEX 30,000 33,000 A 3,000
OkQua 2gdl XA 30,000
Al 30,000
ALIGIZ2E =29 240,200 212,200 28,000
Al 205,700
- 34,500
307 21201 A 240,200 212,200 28,000
Al 205,700
- 34,500
10 AL SXNAIEEE2EHEX 240,200 212,200 28,000
OAUNE2Y 29H XA 240,200
Al 205,700
T 34,500




SXXAY
AYs LeME B
Lol 2XEN

SN EB S (3H) - NEAY - BES ofl &k o San HDE2

Lolg el At 2,855,450 2,323,010 532,440
= 1,427,725
Al 1,427,725

307 212+0] & 2,329,360 1,826,250 503,110
= 1,164,680
Al 1,164,680

05 A2t E = 2,329,360 1,826,250 503,110
OxodXiel A X 2,329,360
= 1,164,680
Al 1,164,680

401 AIEHI L 201 526,090 496,760 29,330
= 263,045
Al 263,045

01 A& Hl 526,090 496,760 29,330
OLoldXiel A ] 526,090
= 263,045
Al 263,045

At 2B FOUZAIS &3Hl X3 36,494 36,494 0
Al 36,494

307 QI2t0| ™ 36,494 36,494 0
Al 36,494

02 2B AMAEE =X 36,494 36,494 0
Ogetze FULAG 2EH K& 36,494
Al 36,494

Lol FO2UESHE 9H XN 100,000 100,000 0
Al 100,000

307 QI2t0| ™ 100,000 100,000 0
Al 100,000

10 Al SXAIEEE2IHIBX 100,000 100,000 0]
Okol FO2UESHEH 29H XN& 100,000
Al 100,000

SEHEQ SSUHAMESE0| AMHIAAYE 2= 35,193 32, 141 3,052
= 17,597
Al 17,596

301 dEtE A= 16,500 16,500 0
= 8,250
Al 8,250

01 A3 E & X 435 2 16,500 16,500 0
OsHLo sS2otd =20 25 16,500
= 8,250
Al 8,250

307 QI2t0| & 18,693 15,641 3,052
= 9,347
Al 9,346




fA4: SXXA
M AYS LEME B
©el: Lol XS CERED
SA - BB B () - MM - BES Ol &t o San HmEET
10 ALSISXAIEEE2EHEX 18,693 15,641 3,052
Ok SS¢d S20AMY 24 18,693
= 9,347
Al 9,346
Losia 294 XA 455,940 447,000 8,940
Al 319,158
T 136,782
307 21201 A 455,940 447,000 8,940
Al 319,158
- 136,782
10 M2 SXNANEHE2IHEX 455,940 447,000 8,940
oke=xa 294 X& 455,940
Al 319,158
T 136,782
LoI=R2 BAXN EXsE K& 20,280 21,480 A1,200
Al 20,280
307 glz2tol & 20,280 21,480 A 1,200
Al 20,280
10 AL SXAIEEE 2 H EX 20,280 21,480 A1,200
Okel=sXa BEAR 2X= XA 20,280
Al 20,280
LOIAZAIE SAN EXE X2 42,500 0 42,500
Al 42,500
307 glz2+ol & 42,500 0 42,500
Al 42,500
10 ALSISEXAIEEE2EHEX 42,500 0 42,500
OLAZ AL SAMA EX=Y K& 42,500
Al 42,500
L =SNAE JIs2d 15,000 0 15,000
402 RI2HXt20l ™ 15,000 0 15,000
01 A TtEAEEX 15,000 0 15,000
Ooko=xa &3A4d & 15,000
KN Ag =X o 2 et st 15,840 15,840 0
Al 15,840
ASISTAIE SA2RLA 2HHI (Z4AHl) 15,840 15,840 0
Al 15,840
301 et A3z 15,840 15,840 0
Al 15,840
0B A =R RAB A4S 15,840 15,840 0
OMIISXAE SUAZLLE AU (Z4Hl) 15,840
Al 15,840
ZOoHerlol ao & gat 12,282,698 10,545,347 1,737,351
= 5,956,372




2N

= Xl Xl & ot

M FojoIo ol B A
Sl FOHY AABA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

Al 6,316,218
T 10,108

ZOHe AAZZ 12,282,698 10,545,347 1,737,351
= 5,956,372
Al 6,316,218
T 10,108

ZOHQUMEAL MASA 183,189 156,667 26,522
= 164,870
Al 18,319

307 glz2+ol & 183,189 156,667 26,522
= 164,870
Al 18,319

10 ALSISXAIEEE 22X 183,189 156,667 26,522
OZOMHAMEAE MASO 183,189
= 164,870
Al 18,319

ZOHQIMEAE ==X 2,797 2,799 A2
= 2,517
Al 280

307 21201 A 2,797 2,799 A2
= 2,517
Al 280

10 ALSISXAIEEER2IHEX 2,797 2,799 A2
O MEANSE WESO 2,797
= 2,517
Al 280

HOHQIMBAIS 29 X 1,807,961 1,573,125 234,836
Al 1,807,961

307 gl2tol & 1,807,961 1,573,125 234,836
Al 1,807,961

10 AL SXNAIEEE2EH EX 1,807,961 1,573,125 234,836
OZOHQUMEAL AFQIAHY| 1,687,078
Al 1,687,078
OOl ME AL 22|2AH 119,895
Al 119,895
OZMAMEAL ST HE & EAHRAHI 988
Al 988

HOHQUMEAL ALRSHOHO K2 3,934 4,204 A270
Al 3,934

307 Q12+0| & 3,934 4,204 A270
Al 3,934

10 ALSISXAIEEE2EH EX 3,934 4,204 A 270
OFMeIoY ANIEZS QI 2HAH] 350
Al 350
O0eolg AIEESZ0Q 2HAH| 210




D SNXE Y

D oFojelel &
D Fojel Aol

0 1o
>

[unse]

SN HH-S(BN) - MBAY - B il HlnE2

Al 210
OZMLIAIE BESHOM 2ZFHl 2,844
Al 2,844
OXOQAAIE BESEQ LA224SHI 530
Al 530

ZoHel Xggol 2283 At K& 20,000 20,000 0
Al 20,000

307 glz2tol & 20,000 20,000 0
Al 20,000

10 M ZXNANEHI2IHE=X 20,000 20,000 0
OFoHel Xdgel 22 A MY N 20,000
Al 20,000

ZOHCIEATHEAE 28 XN& 262,113 209,439 52,674
Al 262,113

307 21201 A 262,113 209,439 52,674
Al 262,113

10 ALSISXAIEEE2GHEX 262,113 209,439 52,674
OHOMAMAMEAIE HA 2| 195,003
Al 195,003
OFMHAXTATHE AL 222l 17,110
Al 17,110
O=ZZ22AYTRLE Re=22E 249 J& 50,000
Al 50,000

ZOHQAATHE AL THOLEOHCI SAldH X& 22,410 21,750 660
Al 22,410

307 21201 A 22,410 21,750 660
Al 22,410

10 M2 SXNANEHE2IHEX 22,410 21,750 660
OXATHE THOLEOHC! SAHI| 22,410
Al 22,410

Foper=X2 24 X3 748,267 725,085 23,182
Al 748,267

307 glz2tol & 748,267 725,085 23,182
Al 748,267

10 M ZXNANEHI2IHEX 748,267 725,085 23,182
OFHeI=R2 AJ o12AH| 674,267
Al 674,267
O&oer=x2 2el23Fdl 74,000
Al 74,000

GHEZMe S4HEXA 4,000 5,000 21,000
= 2,800
Al 1,200

307 21201 A 4,000 5,000 21,000
= 2,800




D SNXE Y

=YV LIE-TRPNE-TRE I3
Do AUBH

SA - FE - BI(EA) - NRAY - By 0l &t San DS

Al 1,200

10 A SXALHE2SEHEX 4,000 ,000 A 1,000
OWdEMe S4&HIE K& 4,000
= 2,800
Al 1,200

=2t ESAE 29 XA 138,556 ,360 9,196
Al 138,556

307 glz2tol & 138,556 ,360 9,196
Al 138,556

10 ALl SXAIEEE2EH EX 138,556 ,360 9,196
OHMI=2AHESAIE 2FHI 130,636
Al 130,636
OHMAFAESAIE HNA=SX=E 7,920
Al 7,920

oSS 29 XA 86,426 ,075 6,351
Al 86,426

307 glztol & 86,426 ,075 6,351
Al 86,426

10 A SXAEHE2EHIER 86,426 ,075 6,351
OZlgssd&IE 224l 82,466
Al 82,466
OFMHAZSHEINE MAST+g 3,960
Al 3,960

ZOHOtS MEIZ ALY 503,799 ,650 36,149
= 352,659
Al 151,140

307 glz2+ol & 503,799 ,650 36,149
= 352,659
Al 151,140

05 RIZt2IE = 503,799 ,650 36,149
OZO0iots MHEXZALS 503,799
= 352,659
Al 161,140

AHLERH ALY 38,400 ,330 70
= 26,880
Al 11,520

307 glz2tol ™ 38,400 ,330 70
= 26,880
Al 11,520

05 RIZtRIE = 38,400 ,330 70
O L E X &AL 38,400
= 26,880
Al 11,520

LEHNAURL Ae|adgXd 9,600 7,680 1,920




2N

X ZH
S =

el

= Xl Xl & ot

=YV LIE-TRPNE-TRE I3
ZOHOl HASA

SA - FE - BI(EA) - NRAY - By 0l &t San DS

= 6,720
Al 2,880

307 glz2+ol & 9,600 7,680 1,920
= 6,720
Al 2,880

10 A SXAEHE2SEHIEX 9,600 7,680 1,920
OLETMHARE Ml 9,600
= 6,720
Al 2,880

LLHAS /S dEHFAQ XA 4,200 2,600 1,600
= 3,360
Al 840

307 glz2tol & 4,200 2,600 1,600
2 3,360
Al 840

10 AL SXAIEEE2EHEX 4,200 2,600 1,600
OgEHMAS /et dF=A XJAAS 4,200
- 3,360
Al 840

=osddy 29 XA 129,840 131,430 A 1,590
Al 129,840

307 21201 A 129,840 131,430 A 1,590
Al 129,840

10 AL SXAIEEE2EH EX 129,840 131,430 A 1,590
O=3ts9dH 22l 122,520
Al 122,520
Oty A=K+ 7,320
Al 7,320

U2 LdE X 2,000 2,000 0

307 21201 & 2,000 2,000 0

SN EEEEETIEES 2,000 2,000 0
O==3stus 2243 X 2,000

STSEMHL SN ALY 3,447,190 2,730,000 717,190
= 2,433,190
Al 1,014,000

307 21201 A 3,447,190 2,730,000 717,190
= 2,433,190
Al 1,014,000

10 ALSISXAIEEE2EH EX 3,447,190 2,730,000 717,190
OZSSEHMY 2SI ALY 3,447,190
= 2,433,190
Al 1,014,000

SSEH ESKNIAMY FIHAA 189,810 159,480 30,330
Al 189,810




2N
X ZH -
L= B

el

= Xl Xl & ot

ZogQIOl arol B a4
ZOHOl HASA

= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
307 glztol & 189,810 159,480 30,330
Al 189,810
10 AMSANANEEE2SHES 189,810 159,480 30,330
OSESHMY ESRNEAY =IO 189,810
Al 189,810
ZJHIESXAANY AR+ 2,520 2,660 A 140
201 2Bt2 2,520 2,660 A 140
01 At 2t el b 2,520 2,660 A 140
oy asIa =5 hAH2A/AA =< 2,520
—=s AN 70,0002 =2H x123] 1,680
-0y A 70,0003 »2H 63| 840
SSTMHY T JEHIS 75,000 75,000 0
Al 75,000
307 212t0l & 75,000 75,000 0
Al 75,000
10 A SXNAIEHIES2SHIEX 75,000 75,000 0
OSSTMANSHSHEH XA 75,000
Al 75,000
ST XM =(BM)EH] Y 240 240 0
201 Yet2 | 240 240 0
02 S3=29Hl 240 240 0
Oo3323 & MA 240
HONQUEOIAL AHBARY Ol 1,600 1,600 0
301 LetEa = 1,600 1,600 0
NII2d= 1,600 1,600 0
OXHOHAHEHAANL AIMZAIRE 0t 1,600
Zopolei 2 2,879,600 2,175,600 704,000
=2 2,073,260
Al 806,340
301 eetE s = 2,879,600 2,175,600 704,000
= 2,073,260
Al 806,340
01 Al 2 & X =353 2,879,600 2,175,600 704,000
oZMA= 2,879,600
= 2,073,260
Al 806,340
Y Sy 363,600 450,000 86,400
= 254,520
Al 109,080
301 LetE = 363,600 450,000 86,400
= 254,520
Al 109,080
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2N

= Xl Xl & ot

M FojoIo ol B A
Sl FOHY AABA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

01 MEIBEE 263 363,600 450,000 A 86,400
OFM==(IN=x) 363,600
= 254,520
Al 109,080

o= (XHA) 343,314 303, 364 39,950
2 240,320
Al 102,994

301 LAz 343,314 303, 364 39,950
= 240,320
Al 102,994

01 MI28E+06l= 343,314 303, 364 39,950
OZOH==Z (X&) 343,314
= 240,320
Al 102,994

ZOoHe MeE+g 220,000 220,000 0
Al 220,000

301 et d = 220,000 220,000 0
Al 220,000

01 MEI2EZE 406z 220,000 220,000 0
OFHeITHE=Z 220,000
Al 220,000

ZONOIXF BHHI Kl @ 1,300 6,040 4,740
2 1,040
Al 260

301 YA 1,300 6,040 £ 4,740
=2 1,040
Al 260

01 MEIBEE 263 1,300 6,040 A4, 740
O&OCI X & dl X2 1,300
= 1,040
Al 260

Foperelzdl X 143,000 250,000 107,000
= 114,400
Al 28,600

301 et A3z 143,000 250,000 107,000
= 114,400
Al 28,600

01 Mel28HE 6= 143,000 250,000 A 107,000
O&oere=zdl XI& 143,000
= 114,400
Al 28,600

ZOHe S5 &I 5,800 3,810 1,990
= 2,900
Al 2,900

301 et d s 5,800 3,810 1,990




2N

= Xl Xl & ot

M mojelol MO B s
Sl FOHY AABA CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2

= 2,900
Al 2,900

01 M EXEE G2 5,800 3,810 1,990
O&e S5 &HH| 5,800
= 2,900
Al 2,900

SO EXRI TN EAS 8,625 9,875 A 1,250
= 6,900
- 1,725

301 dEtE A= 8,625 9,875 A 1,250
= 6,900
- 1,725

01 MSIBEEE G2 8,625 9,875 A 1,250
OZMHAUBXRI| P WEAY 8,625
= 6,900
- 1,725

SOOI & T 2 ALY 91,512 90,000 1,512
Al 91,512

307 QI2t01 ™ 91,512 90,000 1,512
Al 91,512

10 AR SXAIEEE2IHIEX 36,240 35,100 1,140
OXMAUBEHPALCIAIY 29H XA 36,240
Al 36,240

11T A SXAIEE X 55,272 54,900 372
OXMNUBHRLCIAIY A Hl X2 55,272
Al 55,272

ZOHCIHAE 20| AFY 401,128 321,062 80,066
= 200,564
Al 200,564

301 et A= 401,128 321,062 80,066
= 200,564
Al 200,564

01 MBI BEEAESG2 401,128 321,062 80,066
O&FMHH 20| ALY 401,128
= 200,564
Al 200,564

oI XL X2l AL 138,944 123,922 15,022
= 69,472
Al 69,472

301 dEtE A= 138,944 123,922 15,022
= 69,472
Al 69,472

01 M EXEE G2 138,944 123,922 15,022
OFOMA=E AL Xl At 138,944
= 69,472

- 22 -




S XX D

M mojelol MO B s
Sl FOHY AABA CEEEED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
| Al 69,472
ZoeItsxt XS HMEH 2,023 0 2,023
201 L2l 2,023 0 2,023
01 At 2t 2l 2,023 0 2,023
OXOAXSX EXS M= 2,023
FHAAHNE Ol EZ 7,291,486 7,338,810 ANA4T,324
= 1,627,642
Al 5,494,028
T 169,816
NSAE Ots2 ANME E4 2,626,050 2,774,019 A 147,969
= 965,624
Al 1,490,610
T 169,816
UUOE YHLY X 57,600 79,676 ~22,076
= 40,320
Al 17,280
307 2I2t0l A 57,600 79,676 AN22,076
= 40,320
Al 17,280
11 AISI S XA E X 57,600 79,676 A22,076
Ogdots == XA 57,600
= 40,320
Al 17,280
ZHOISYY FE2EZ X 19,336 20,766 A1,430
2 13,535
Al 5,801
307 21201 A 19,336 20,766 A 1,430
= 13,535
Al 5,801
11 AMSSIAIEE S 19,336 20,766 A 1,430
OFHoIsxyY 22Xz XA 19,336
= 13,535
Al 5,801
YU A0S M2lXE XA 3,600 3,000 600
= 2,520
Al 1,080
307 glz2tol & 3,600 3,000 600
= 2,520
Al 1,080
11 AISI S RASEE = 3,600 3,000 600
OLLIE &S ez XA ALY 3,600
= 2,520
Al 1,080
gotgeots s+ K 4,800 6,000 A 1,200
Al 4,800
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S XX D

B Fo)E O 25
@2 XA ots2 2HE |4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 4,800 6,000 A1,200
Al 4,800
11T MISXASEEX 4,800 6,000 A 1,200
ogotgdors == XA 4,800
Al 4,800
2o, &erE OtssSA XA 663,865 750,819 A 86,954
Al 497,899
- 165,966
307 21201 A 663,865 750,819 A 86,954
Al 497,899
- 165,966
11T M3 SXAISEEX 663,865 750,819 A 86,954
OEBY, dax ots=2aXA 663,865
Al 497,899
- 165,966
E, E5Y Ots=4NA 123,030 162,987 A 39,957
Al 123,030
307 glz2tol & 123,030 162,987 A 39,957
Al 123,030
11T M SXAISE EX 123,030 162,987 A 39,957
OE.358Y 0534 A& 123,030
Al 123,030
OtssSAd=g 490 490 0
201 LBt2d| 490 490 0
01 At 22l 490 490 0
ONSSAMAAS 3o &M 490
IIERE OIS XA 117,000 105, 120 11,880
Al 117,000
307 21201 A 117,000 105,120 11,880
Al 117,000
11T MISRASEX 117,000 105, 120 11,880
OJtE &SN 117,000
Al 117,000
A2EAEHINE  JINERE AME0ts HetssEa3 A& 35,000 68,000 /33,000
Al 35,000
307 gl2tol & 35,000 68,000 /33,000
Al 35,000
11T ALS S XAEE = 35,000 68,000 33,000
OA2EAUHIIE, JIERAE0S, AIE0ts g
sE23 & 35,000
Al 35,000
A2EAHINE OIS S HE XA 36,000 36,000 0
Al 36,000
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2N

= Xl Xl & ot

M HAHES Ot BS
Sl KISAIE OISO AWE K4 (29l & 2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
307 glz2tol & 36,000 36,000 0
Al 36,000
11 AISI S XA E = 36,000 36,000 0
OaxdAHINEO=SS NHEXA 36,000
Al 36,000
OtsLERIAAE XA 135,109 134,739 370
= 94,576
Al 40,533
307 21201 A 135,109 134,739 370
= 94,576
Al 40,533
11T AISI S XA E X 135,109 134,739 370
OOt g X2 HE X 135,109
= 94,576
Al 40,533
el 0l=0l8 =XE=H| 800 1,000 A 200
201 £B-2dH| 800 1,000 A 200
01 At 22l 800 1,000 A 200
OONE0l=0le |RAE=xH 800
NEotsdH 24 X3 813,996 820,634 N6,638
= 406,998
Al 406,998
307 glz2+ol & 813,996 820,634 A6,638
= 406,998
Al 406,998
10 M SXNANEHI2IHE=S 813,996 820,634 26,638
OXgotsd e 29l 748,392
= 374,196
Al 374,196
OXNSEotsHE ER2EI 27,060
= 13,530
Al 13,530
OEx==8d NY0tsdy 24l 38,544
= 19,272
Al 19,272
OIESdY XNgotsdH 29 X 14,400 4,200 10,200
Al 14,400
307 21201 A 14,400 4,200 10,200
Al 14,400
10 ALSISXAIEEE2GHEX 14,400 4,200 10,200
OOUESEY XG0tsHEH 22l 14,400
Al 14,400
XIS HE SAX HSIHAL] 45,100 42,608 2,492
Al 45,100
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S XX & ot

H: HAANE Ols B3
I NHAE Otse AME |4 )
SN FE - EA(SA) - MRAY - BES il Bl RE2
307 glz2tol & 45,100 42,608 2,492
Al 45,100
10 ALSISXAIEEE 22X 45,100 42,608 2,492
OXNH0otsdE SAA MROHAH 45,100
Al 45,100
ANEotsdH Ots=SX A X 210,150 215,040 A 4,890
= 105,075
Al 105,075
101 @14l 210,150 215,040 A 4,890
= 105,075
Al 105,075
04 D12t Z22EE = 210,150 215,040 A 4,890
OXY0tsdE Ots=XIWA 124H] 210,150
= 105,075
Al 105,075
NgotsdE IPTV S22 22| 22,040 17,940 4,100
Al 22,040
307 glz2tol & 22,040 17,940 4,100
Al 22,040
10 AL SXNAIEEE2EHEX 22,040 17,940 4,100
olpvagY XI& 22,040
Al 22,040
ANGotsdEH B Lis JtE SEisal 2,000 2,000 0
307 izl & 2,000 2,000 0
10 ALSISXAIEEE 22X 2,000 2,000 0
OXgotsdH & Uz JtsHEial 2,000
CYAEIEAMY 300,000 300,000 0
= 300,000
101 1Al 106,260 99,960 6,300
= 106,260
04 J12ZtHZ22HEE = 106,260 99,960 6,300
OJIZHZ22 X elAH| 106,260
= 106,260
201 £B-2%H| 151,155 157,040 A5,885
= 151,155
01 At 2t 2|l 140,447 146,322 A5,875
OEYAEE Z20d 29 108,349
= 108,349
OEEAEE ARES, EUH =S 3,738
= 3,738
O 2 AtHI 15,600
= 15,600
Ooxg gz 1,600
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S XX D

B Fo)E O 25
S KNS Ols2e HANE =4 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= T.600
O=UZ2REAA SAH| 7,000 x5 38 x12& 1,260
= 1,260
OCEAEE M@ gDy
220,000& x6H *23| 2,640
= 2,640
OCEABEZAARAS A4
70,0003 x9H »23] 1,260
= 1,260
OEYAEIE 2822 H& 6,000
= 6,000
02 3324 H| 7,708 7,718 A 10
ORWERI, I3 5 s52= 6,208
= 6,208
OXEgES A 22l 1,500
= 1,500
03 S ALS H I 3,000 3,000 0
OEYAEE AXNEAISG S 3,000
= 3,000
202 04| 6,960 7,000 N40
= 6,960
01 2L Y] 6,960 7,000 AN40
OEYHAEE ARNE &0 6,960
= 6,960
203 YR =&H| 2,000 1,000 1,000
= 2,000
03 A =X R =XH| 2,000 1,000 1,000
OEHAEE 23| 250,000 83| 2,000
= 2,000
301 dEtE A= 5,125 5,500 N 375
= 5,125
09 HAIAHI EA= 500 500 0
OAIAHI B A2 500
= 500
11 IIEtE &2 4,625 5,000 N 375
OWAXE JI=XAF SE X 24 10,000& *80H 800
= 800
OXESALA & SH| 3,825
= 3,825
307 QI2t0| & 26,000 26,000 0
= 26,000
11 AMISXAEE X 26,000 26,000 0
>s)|2 T2 A 26,000
= 26,000
401 Al HI L 2 0HHI 500 500 0
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2AMd: SXXE L
B FHAKE O0S
el XFALE Ots 4 d (&
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 500
01 500 500 0
EtEHEH W AIERX 500
= 500
1,000 1,000 0
= 1,000
1,000 1,000 0
SEEEANAE 25 1,000
= 1,000
1,000 2,000 A 1,000
= 1,000
SEZF St 1,000 2,000 21,000
E HSZE ¥ Z2)d 2EE2E Y 1,000
= 1,000
2 K& 3,000 3,000
Al 3,000
307 21201 A 3,000 3,000
Al 3,000
11 AMSSIAIEE X 3,000 3,000 0
OogY =ot=s N 3,000
Al 3,000
=g dl2t LXUXIA=Z XA 3,714 0 3,714
= 2,600
Al 1,114
307 gl2tol & 3,714 0 3,714
= 2,600
Al 1,114
11T ASI S RAEE = 3,714 3,714
Oogg=zllz2t LRXNIAS XA 3,714
= 2,600
Al 1,114
ANE0tsdlH 2etelsts =2d X2 7,500 7,500
Al 7,500
307 212+0| & 7,500 0 7,500
Al 7,500
10 ALSISXAIEEE2EHEX 7,500 0 7,500
OXgotsdy =2etelss =24 XN& 7,500
Al 7,500
ANEotsHE Hete ) #AH XI& 4,410 0 4,410
Al 4,410
307 21201 A 4,410 0 4,410
Al 4,410
10 ALSISXAIEEE2IHEX 4,410 0 4,410
o




A5

= X X & 1t
HE: HUNUE OIS B35
@2 XA ots2 2HE |4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXNSOISHE He, A X 4,410
Al 4,410
ANSotsdE Ml X 2,550 0 2,550
Al 2,550
307 21201 A 2,550 0 2,550
Al 2,550
10 AL SXAIEEE2IHEX 2,550 0 2,550
OXdotsdH M= X3 2,550
Al 2,550
OtsEXNa2ARAE =& 560 0 560
201 ¢er24| 560 0 560
01 At 22/l 560 0 560
OOtE=R MRS 5o HA Sg
70,0003 x8H *13] 560
OtS=XAE 22X & 4,665,436 4,564,791 100,645
= 662,018
Al 4,003,418
OlSAIE dH=S0 581,708 563,708 18,000
= 523,537
Al 58,171
307 21201 A 581,708 563,708 18,000
= 523,537
Al 58,171
10 ALSISXAIEEER2IHEX 581,708 563,708 18,000
OO0tsSAIE A=A 581,708
= 523,537
Al 58,171
OrsAlE =20 106,207 103,207 3,000
= 95,586
Al 10,621
307 glz2tol & 106,207 103,207 3,000
= 95,586
Al 10,621
10 AL SXAIEEE 2 H EX 106,207 103,207 3,000
O0sSAE nEsH 106,207
= 95,586
Al 10,621
OtsSAIE2gHl & SAX 2] 3,645,214 3,666, 149 A 20,935
Al 3,645,214
307 21201 A 3,645,214 3,666, 149 A 20,935
Al 3,645,214
10 AL SXAIEEE2EHEX 3,645,214 3,666, 149 220,935
OO0tsSSEXAIE 2gHl & SAXIAH| 3,605,214
Al 3,605,214

_29_




SHT =NXED
M FAAS Ols 23
el OIS EXAL 2SS (sl &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
O0ts2ANESAE 29 N 40,000
Al 40,000
Ots A& AlHIXI& 106,900 124,426 N 17,526
Al 106,900
307 212t0| & 106,900 124,426 N 17,526
Al 106,900
10 AIRIEXAIEEHAE2IGHIEX 106,900 124,426 AN17,526
OAlE0ts =80 &l 6,341
Al 6,341
OS0tAIE <2/ 9,990
Al 9,990
OAMHOlES WEH XN (x,5,0M) 22,465
Al 22,465
OAMHEOtS StAH ==& b 5,753
Al 5,753
OAHEOts 8= 62,351
Al 62,351
EA0S NEHEEHZ 126,000 42,000 84,000
Al 126,000
307 212t0| & 126,000 42,000 84,000
Al 126,000
11T A SEXAIEEX 126,000 42,000 84,000
OEA0ts ANEHEZ 126,000
Al 126,000
2SMEDI¥(O0EE )29 g 44,213 44,213 0
= 17,685
Al 26,528
307 QI2t0| & 44,213 44,213 0
= 17,685
Al 26,528
10 Al SXAIEEE2IHIBX 44,213 44,213 0
OZ2=sMEIId(0OEE) 29X g 44,213
= 17,685
Al 26,528
OHs=XAE JIs22 50,420 16,418 34,002
= 25,210
Al 25,210
402 Q12+t X220l & 50,420 16,418 34,002
= 25,210
Al 25,210
01 CIZtAI2AEE X 50,420 16,418 34,002
OgZ0s=EXNd NEIIsEH 9,000
= 4,500
Al 4,500
OHME ANEIIsEZL 41,420
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EX: E2XXNS
HE: HUNUE OIS B35
2 OlIs=E2XAIE 29X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
= 20,710
Al 20,710
SMEJIY HAEFHH XS 4,774 4,670 104
Al 4,774
307 2iz2to| & 4,774 4,670 104
Al 4,774
10 MM SAANEEHESIGHEX 4,774 4,670 104
OZSHEINE AVS LY N 4,774
Al 4,774
Hs & 4 119,878 50,532 69,346
= 48,200
J| 4,200
Al 40,200
5 27,278
HAa4E 27X 119,878 50,532 69,346
= 48,200
J| 4,200
Al 40,200
5 27,278
HAUEES 12,878 13,532 A\ 65h4
= 1,300
Al 1,300
5 10,278
201 et | 9,878 10,232 A 354
01 AP 2t 2] d| 9,878 10,232 A 3b4
O fadel ¢, ssiMse g2
600 4,000 2,400
OFAEEs 23 U2 4, 4003 x2200H4 968
OFAEURHERAAS 3 &EFMS ¢
70,000& 9% x13] 630
OXNEMIFALAEHESXNFMAHAHS2IE 2T 39
A =g 70,0002 x11H x23] 1,540
OStZHHM XNHEEEOF 3o&EA £
70,0002 x 152 x23] 2,100
OstnZ=Z=d e 222 M 2,240
-E8E2E 500& =4 ,0000H 2,000
= 70,000 «20H 140
— &EX 2002 x5000H 100
301 et A= 400 400 0
11 J|EtE A S 400 400 0]
OFAEBSHLAL AIDNTTAZ Xz
50,000 «824 400
307 QI2t0| ™ 2,600 2,900 A 300
= 1,300
Al 1,300




2N

= Xl Xl & ot

Hm: HAd 25 2 84
oelr BAd =X (el @2)
L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
02 Q2B AMAIE E =X 2,600 2,900 A 300
OFAERMNSIEUAEL S IA A 2,600
= 1,300
Al 1,300
HAiAE 228 29 34,000 34,000 0
Al 17,000
- 17,000
307 212t0| & 34,000 34,000 0
Al 17,000
- 17,000
10 AISIEXAIEEHE2IHIEX 27,200 27,200 0
oAz 29 27,200
Al 13,600
- 13,600
11T AISIEXAIEEX 6,800 6,800 0
OFAEZEE T2 A 6,800
Al 3,400
- 3,400
SEEXUA HFAEXS 6,000 3,000 3,000
J| 4,200
Al 1,800
301 et A= 5,520 2,760 2,760
J| 4,200
Al 1,320
01 AMFSIEXEE 4562 5,520 2,760 2,760
OSEXN3AUA 3A4E XIALY 5,520
J| 4,200
Al 1,320
307 2Iz2to| A 480 240 240
Al 480
10 MM SAANEEHESIGHEX 480 240 240
OSEXNHa 344 Atddl 22l 480
Al 480
st 9 AW XY 67,000 0 67,000
= 46,900
Al 20,100
307 212+0| & 67,000 0 67,000
= 46,900
Al 20,100
05 QIZtRES 67,000 0 67,000
Ostw g dA44 XA 67,000
= 46,900
Al 20,100
HHSAAY (XX 101,420 87,830 13,590
Jl2dHl 101,420 87,830 13,590
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D EXXE M
D HES2IAH (2EX XKD
:Jl23tl

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
Jl23l 101,420 87,830 13,590
201 LBH2d| 19,220 17,390 1,830
01 At 2t 2l 19,220 17,390 1,830
O=AERX 7 20,0002 81k A 1,620
OEHTY 3,050
- TeH 115,000 *4CH x53] 2,300
-2 (ZH) 150,000 *1CH *53] 750
ORM2gII2+8H| 10,0003 x25H »12& 3,000
OAIZ2 22X = Al
7,000% 5. 541 «25H « 128 11,550
202 o4dl 78,000 66,240 11,760
01 = LH o4 1l 78,000 66,240 11,760
O2 Lol 260,000 *25%H x12& 78,000
203 YR =] 4,200 4,200 0
04 BENSSHRF=LHI 4,200 4,200 0
ORA2Y Z2F28H 350,000& = 12& 4,200
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